Group Id : 540250338

Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group?: No

Edit Attended Group?: No

Break time : 0

Group Marks : 250

Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No

General Test

Section Id : 540250408
Section Number : 1

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 50

Section Marks : 250
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 5402501147
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 201 Question Id : 54025016121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The curved surface area of a right circular cone of height 12 cm and base diameter 10 cm is :
(1) 657 cm?

) 75rem
(3) 1307 cm?
[4) 100 7 cm?
Options :
54025064481. 1
54025064482. 2
54025064483 3

54025064484. 4

Question Number : 201 Question Id : 54025016121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

12 9. S 3R 10 T, SMUR 19 % T T UG 1 T IS & § ¢

(1) 657 §Hl2
(2) 75w HHl2
(3) 130 7 HHi2
(4) 100 7 G2

Options :

54025064481. 1




54025064482. 2
54025064483. 3

54025064484. 4

Question Number : 202 Question Id : 54025016122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Cost of 6 pens and 9 pencils is ¥ 126. What is the cost of 8 pens and 12 pencils ?
(1) T156

Options :

54025064485. 1
54025064486. 2
54025064487. 3

54025064488. 4

Question Number : 202 Question Id : 54025016122 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




7fc 6 99 3l 9 Ut 1 i 2126 %, o 8 T el 12 et it g Fet g ?
(1) %156

(2) 3159
(3) %162
(4) 7168
Options :
54025064485, 1
54025064486. 2
54025064487. 3

54025064488. 4

Question Number : 203 Question Id : 54025016123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Find the 18" and nt! term of the A.P. given by :

B,13.18, ...,
(1) 80, 3+5n
(2) 93, 3+5n
(3) 65, 3—2n
(4) 40, 5+3n
Options :

54025064489. 1
54025064490. 2
54025064491. 3

54025064492. 4




Question Number : 203 Question Id : 54025016123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

& T TR Foi T 187 IR 0 4% T HS
83518, ...

(1) 80, 3+5n

(2) 93, 3+5n

(3) 65, 3-2n

(4) 40, 5+3n
Options :
54025064489. 1
54025064490. 2
54025064491. 3

54025064492. 4

Question Number : 204 Question Id : 54025016124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




1
If a person travel 10g Km in 3h, then the distance covered by him in 5 h will be :

Options :

54025064493. 1
54025064494. 2
54025064495. 3

54025064496. 4

Question Number : 204 Question Id : 54025016124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e i1 e 3 5 W '10% forel, 61 T T, T 36k 370 5 5 W T g8t 7 =l 7

17 T,

1)
) 22 fedl
)
)

2
3
4

20 T 1,
30 fepel

Options :

(
(
(
(

54025064493. 1
54025064494. 2
54025064495. 3

54025064496. 4




Question Number : 205 Question Id : 54025016125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Speed of the boat along the current and against the current are 10 km/h and 8 km/h respectively.
What is the speed of the current ?

(1) 4

(2
()

(4

e o B |

Options :

54025064497 1
54025064498. 2
54025064499. 3

54025064500. 4

Question Number : 205 Question Id : 54025016125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e, el e 80 1t ST o et e S o e s 20 Pl . &8 Pl . €, 4 o 80
fed
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Options:

54025064497. 1
54025064498. 2
54025064499. 3

54025064500. 4

Question Number : 206 Question Id : 54025016126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Find the co-ordinate of the mid point of a line which joins P(2, =1) and Q(=3, 4) :
i
2'2
; [E 1}
( ) 3 5
)
() 2”8

0 5

Options :

54025064501. 1




54025064502. 2
54025064503. 3

54025064504. 4

Question Number : 206 Question Id : 54025016126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

P2, 1) 3R Q(-3, 4) feigeli & zm % wex foig 1 Faswner T AT -

v (33

o (3
o (33
@ (33
Options :

54025064501. 1
54025064502. 2
54025064503. 3

54025064504. 4

Question Number : 207 Question Id : 54025016127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

How many 3-Jetter words can be formed from the letters of the word ‘OBJECTS' f repetition s not
allowed ?

1) 3
Q) 120
6) 210
(4) 840
Options :

54025064505. 1
54025064506. 2
54025064507. 3

54025064508. 4

Question Number : 207 Question Id : 54025016127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

% [T A 47l A @, @ OBJECTS W1 o o1 ® 3 - 96 & i) W1g o700 1 Wk €7
(1
2
(3) 210
(4

2

Options :
54025064505. 1

54025064506. 2




54025064507. 3

54025064508. 4

Question Number : 208 Question Id : 54025016128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

How many chords can be drawn through 5 points on a circle ?

(1) 5
(2) 10
(3) 20
(4) 60
Options :

540250645009. 1
54025064510. 2
54025064511. 3

54025064512. 4

Question Number : 208 Question Id : 54025016128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




fordlt o W 5 foigadi g1 femam =g ol @i= <1 geha €72

(1) 5
(2) 10
(3) 20
(4) 60

Options :

540250645009. 1
54025064510. 2
54025064511. 3

54025064512. 4

Question Number : 209 Question Id : 54025016129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Two pipes A and B can fill a tank in 10h and 15 h Respectively. Find the time taken to fill the tank
when both the pipes are turned on simultaneously :

(1) 5h
Q) 6h
() 8h
¢ 12h
Options :
54025064513. 1
54025064514. 2
54025064515. 3

54025064516. 4

Question Number : 209 Question Id : 54025016129 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e A S B S R el 3 o) S 10 98 3 15 50 R e 1 5 2 Rl o o e e
T T 35 9§ o e

Options :

54025064513. 1
54025064514. 2
54025064515. 3

54025064516. 4

Question Number : 210 Question Id : 54025016130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




At what rate of interest ¥ 1,200 becomes ¥ 1,323 in 2 years where inferest gets compounded
annually ;

1,
) 2=%
0 %

y
2
Options:
54025064517. 1
54025064518. 2
54025064519. 3

54025064520. 4

Question Number : 210 Question Id : 54025016130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Tolt 1 W 21,200 1 91 % 1,323 ) ST 2, el < ek &9 H Wi e v 7




Options :

54025064517. 1
54025064518. 2
54025064519. 3

54025064520. 4

Question Number : 211 Question Id : 54025016131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arun invests an amount of ¥ 4,000 at the rate of 2% simple inferest per annum. For how meny
years did he invest the amount to double his sum ?

(1) 20 years
30 years

= ] 2

2
(3) 30 years
4

45 years
Options:
54025064521. 1
54025064522. 2
54025064523. 3

54025064524. 4

Question Number : 211 Question Id : 54025016131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

37 2% Yo SR &9 a0 ¢ R % 4,000 SR 9 F A € 1 3k g0 Fom it e
a8 T & T

1) 0

Q) 30

(3) 50

(4 45

Options:

54025064521. 1

54025064522. 2

54025064523. 3

54025064524. 4

Question Number : 212 Question Id : 54025016132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

What should replace the question mark ?
854 X 854 X 854 — 276 X 276 X 276 _

854 x 854 + 854 X 276 + 276 X 276 y
(1) 1130

(2) 578

(3) 565

(4) 1156
Options:

54025064525. 1

54025064526. 2




54025064527. 3

54025064528. 4

Question Number : 212 Question Id : 54025016132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

854 x 854 x 854 — 276 X 276 X 276 N
854 x 854 + 854 x 276 + 276 X 276

frefafad | 9 SF-4i e years (9% (2) % gfaenfid sl ?

?

(1) 1130
(2) 578
(3) 565
(4) 1156
Options :

54025064525. 1
54025064526. 2
54025064527. 3

54025064528. 4

Question Number : 213 Question Id : 54025016133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




What 1s the maximum area of a rectangle which can be mscribed in a circle of radius 2 cm ?

Options :

54025064529. 1
54025064530. 2
54025064531. 3

54025064532. 4

Question Number : 213 Question Id : 54025016133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

2 T, o & foreft 99 o Sehid et 1 rfersam et fepe & ?

(1) 27 HHP
(2) 8 g2
(3) 47 TP
(4) 4 92
Options :

54025064529. 1
54025064530. 2
54025064531. 3

54025064532. 4




Question Number : 214 Question Id : 54025016134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The diameter of the driving wheel of a bus is 140 m. How many revolutions per minute must the
wheel make in order to keep a speed of 66 km/h ?

(1) 1100

(2) 500

(3) 250

(4) 300
Options :
54025064533. 1
54025064534. 2
54025064535. 3

54025064536. 4

Question Number : 214 Question Id : 54025016134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




foret 70 % S = o e o o 140 1 6 e ) v o o F o ol ) o e
T SO A 2
(1) 1100

2 500

3 250

(4 300
Options:
54025064533. 1
54025064534. 2
54025064535. 3
54025064536. 4

Question Number : 215 Question Id : 54025016135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

If the selling price is doubled, the profit triples. Find the profit % :
(1) 50%

1
105=%
) 1057

2
3)  66—%
4] g
(4) 100%
Options :

54025064537. 1
54025064538. 2
54025064539. 3



54025064540. 4

Question Number : 215 Question Id : 54025016135 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
e fosra gea S R fean s §, @ fogn @1 < &, @ e % 3 ifse 2
(1) 50%

1
2)  105=%
2) 105

(3) 662%

(4) 100%
Options :
54025064537. 1
54025064538. 2
54025064539. 3

54025064540. 4

Question Number : 216 Question Id : 54025016136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arjun is twice as old as Shreya. Five years ago, his age was three times Shreya’s age. Find the sum
of their present ages :

(1)

(2) 30 years
(3) 40 years
(4) 30 years

20 years

Options:

54025064541. 1
54025064542. 2
54025064543. 3

54025064544. 4

Question Number : 216 Question Id : 54025016136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ST 9 T 970 ) A 9 1 W ) A A a0 1 | S e o
RIEEIEY

(1) 0
Q) 30
(3) 40
(4 50

Options :

54025064541. 1
54025064542. 2
54025064543. 3

54025064544. 4




Question Number : 217 Question Id : 54025016137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A bag contains 6 white and 4 black ball. Two balls are drawn at random. Then the probability of
getting balls of the same colour s

i 2
ORST
g 2
& =
i L
i§ L
8 =
Options :

54025064545. 1
54025064546. 2
54025064547. 3

54025064548. 4

Question Number : 217 Question Id : 54025016137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

T o 5 %5 R 9T T 2 o 8 ) 1 AT ST O ) 1 61T 70 2 ol e
2

.
DT
2) .|
5 15
i 2
i L
Options :

54025064545. 1
54025064546. 2
54025064547. 3

54025064548. 4

Question Number : 218 Question Id : 54025016138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A die is thrown. Find the probability of getting :
(A) A number greater then 6 and
(B) A number less than 3.

(1) 0,

G| =

P | =

Options :

54025064549. 1
54025064550. 2
54025064551. 3

54025064552. 4

Question Number : 218 Question Id : 54025016138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025064549. 1
54025064550. 2
54025064551. 3

54025064552. 4

Question Number : 219 Question Id : 54025016139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A man spends 60% of his income and saves the remaining. His income increases by 28% and his
expenditure also increases by 30%. Find the percentage increase in his savings.

(1) 4%

(2) 4.44%

(3) 30%

(4) No change




Options :

54025064553. 1
54025064554. 2
54025064555. 3
54025064556. 4

Question Number : 219 Question Id : 54025016139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T T A 7 1 60% 57 1 ¢ 01 Y T e | ST 7 W 28% ) g 31 ol & 7 3
oy B 4 30% 9 3 7 T €1 S a0 1 5l 1 Wiow T #?

1) 4%

) L4%
) 30%

Options :

54025064553. 1
54025064554. 2
54025064555. 3

54025064556. 4

Question Number : 220 Question Id : 54025016140 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

In the given figure, AB=AD. ZACB=%°+/BAC and ZBAD=150°. Find ZACB.

A
B C D
(1) 100°
2) 110°
(3) 120°
(4) 130°
Options :

54025064557. 1
54025064558. 2
54025064559. 3
54025064560. 4

Question Number : 220 Question Id : 54025016140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




& T o § AB=AD %1 LACB=95"+ ZBAC 71 ZBAD=150" &| ZACB W #fu

A
B C D
(1) 100°
() 110
(3) 120°
(4) 130°
Options:

54025064557. 1
54025064558. 2
54025064559. 3
54025064560. 4

Question Number : 221 Question Id : 54025016141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

At what angle the hands of a clock are inclined at 16 minutes past 4 ?
(1) 56°

(2) 46°
(@) 327
(4) 60°



Options :

54025064561. 1
54025064562. 2
54025064563. 3

54025064564. 4

Question Number : 221 Question Id : 54025016141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Sl Sl s 4 i 16 T2 T g o1 I Af=a 2t 2
(1) 56°
(2) 46°
(3) 32°
(4) 60°
Options :

54025064561. 1
54025064562. 2
54025064563. 3

54025064564. 4

Question Number : 222 Question Id : 54025016142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

There is a definite relationship between figures A and B. Establish a similar relationship between
figures C and D by selecting a suitable figure from options :

O|l|A

A B C D

-

(1)

(2

§

(4

Options :

54025064565. 1
54025064566. 2
54025064567. 3

54025064568. 4

Question Number : 222 Question Id : 54025016142 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e A B % 9 U ofvera Wy & | ot o § S0 STHMd & = g0 1 C SRD %
W@H@Iﬁﬂﬁm:

0|l A

A B C D

L}

(1)

(2

4

(4

| || |[T=>] |<=]

Options :



54025064565. 1
54025064566. 2
54025064567. 3

54025064568. 4

Question Number : 223 Question Id : 54025016143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Five persons are standing in a queue, one of two persons at the extreme end is a doctor and the
other is engineer. An advocate s standing to the right of the student, An Author is to the left of
the engineer. The student is standing between the doctor and advocate.

If the advocate and engineer exchange their positions and also the author and the student, then
who will be standing to the left of the author ?

(1) Doctor

(2) Engineer
(9) Advocate
(4) Student

Options:

54025064569. 1
54025064570. 2
54025064571. 3
54025064572. 4

Question Number : 223 Question Id : 54025016143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1




Question Key Details :

Key Value

Comprehension MCQ

9 o O e 0 ¢ | o 9 T e 2 el B 2 i € 3 g SR & foef
et 4 O s g € SRR 6 o o o € | 2 ol e o o e g €

3 TR 4T SN S ST I e e ¢ 920 v 4 frel e e o o
T, T % T G oAt A

(3) T
(4) Termed

Options :

54025064569. 1
54025064570. 2
54025064571. 3

54025064572. 4

Question Number : 224 Question Id : 54025016144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A'is the husband of B. C is the only grandson of D who is wife of E and mother-in-law of B. How
iS A related to E ?

(1) Cousin
(2) Nephew
(3) Son-in-law
(4) Son




Options :

54025064573. 1
54025064574. 2
54025064575. 3
54025064576. 4

Question Number : 224 Question Id : 54025016144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A B U &1 EH T 3R B I WE D H GHE T CE1A, E 50 Haftm 87
T

Options:

54025064573. 1
54025064574. 2
54025064575. 3

54025064576. 4

Question Number : 225 Question Id : 54025016145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

Shyam walks 4 km north-east and then 3 km south-east. Find the total distance as well as the
shortest distance between starting and end point,

(1) 14,7

Options :

54025064577. 1
54025064578. 2
54025064579. 3
54025064580. 4

Question Number : 225 Question Id : 54025016145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

I 4 o, -l e & o O 3 oo, <fel-e e 2 o fig v ffm g F ol g of
& W14 7 50 0 HI

1) 7

29
) 7
(4 8

Options :
54025064577. 1
54025064578. 2

54025064579. 3




54025064580. 4

Question Number : 226 Question Id : 54025016146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

When a calendar of year 1997 can be used again ?

(1) 2001
(2) 2005
(3) 2003
(4) 2007

Options :

54025064581. 1
54025064582. 2
54025064583. 3

54025064584. 4

Question Number : 226 Question Id : 54025016146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Y 1997 1 HetveR IA: fohg ad yge foran < gehar §72

(1) 2001
(2) 2005
(3) 2003
(4) 2007
Options :

54025064581. 1
54025064582. 2
54025064583. 3

54025064584. 4

Question Number : 227 Question Id : 54025016147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A piece of paper is folded and cut as shown below. From the given figures, indicate how it will
appear when it is opened ?

0
41 \oo

Options:

54025064585. 1
54025064586. 2
54025064587. 3

54025064588. 4

Question Number : 227 Question Id : 54025016147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

TS % TG ¢S o A1 Ve o7 % G i) e 2 7 219 ) e @ 3 o
38 e ) 5 e a2

0
0 ¢
0%0
1) |90
(2
0)
0000
@ Vo
Options:

54025064585. 1
54025064586. 2
54025064587. 3

54025064588. 4

Question Number : 228 Question Id : 54025016148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Seven friends A, B, C, D, E, Fand G are sitting n a circle facing the centre, A 15 between Eand D.
F is between B and G. B s second to the right of E.

Gis sitting :

(1) between A and F

(2) tothe immediate right of F
(3) second to the left of A

(4)  fourth to the left of E

Options :
54025064589. 1
54025064590. 2

54025064591. 3

54025064592. 4

Question Number : 228 Question Id : 54025016148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A A B,CDEFMGHIZH M FF TR A9 ¢l A ESDFATARIE BAG
& a1 4 €1 o 3l A9 g A WBE

CHRITE:

(1) ASRE% 4

Q) FETEE

6 AFTHYTNEAR
(¢ EHTEH 9 WA R
Options :
54025064589. 1
54025064590. 2
54025064591. 3

54025064592. 4

Question Number : 229 Question Id : 54025016149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Six lectures are scheduled in a week starting from Monday and ending on Sunday with one off
day in between. Computer science is not or Tuesday on Saturday. Psychology is immediately
after organisational behaviour. Statistics s not on Friday and there is one day gap between statistics
and Research methods. One day prior to the schedule of Economics there is no lecture (as that day
is the off day and Monday is not the off day)

On which day is computer science schectuled ?
(1) Friday

(2) Thursday
(3) Sunday
(4)  Wednesday

Options :




54025064593. 1
54025064594. 2
54025064595. 3

54025064596. 4

Question Number : 229 Question Id : 54025016149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e & i o e A 7 e e € e S e 6 e o I €1 e T
7 YR 1 ) & | T ST oI & i 9K | Tiew YR 3 T ¢ 14 Whew! &
SRR Yo % 1 o o ) S0t ) e o o e o o 8 8 o 7 € (i
T feA e o fo € v e e o A )

e W fort fro fe am-w 27

(1) YFam

2) TR

(3) o

(4) gher

Options :

54025064593. 1
54025064594. 2
54025064595. 3
54025064596. 4

Question Number : 230 Question Id : 54025016150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0




Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Answer the following question by using Venn diagram on the basis of the given statements and
conclusions. You have to assume all the statements there, decide which of the given conclusions
logically follows from the information given in the statements

Statements: I Some shurts are pants,
Il All shoes are shirts,
I All pants are gloves.
Conclusions : 1. Some shoes are gloves,
Il Some shirts are gloves.
I No pants are shoes,
IV, All gloves are shirts.
(1) Only I follows
(2) Only IV follows
(3) Only [and I follows
(4) Only [and IV follows
Options:
54025064597. 1
54025064598. 2
54025064599. 3

54025064600. 4

Question Number : 230 Question Id : 54025016150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :
54025064597. 1
54025064598. 2

54025064599. 3

54025064600. 4

Question Number : 231 Question Id : 54025016151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Find the next term in the given series.
BMO, EOQ, HQS,

(1) UKS
(2) PQS
(3) KSU
(4) RSK
Options:

54025064601. 1
54025064602. 2
54025064603. 3

54025064604. 4

Question Number : 231 Question Id : 54025016151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
el § el 98 FMd IS
BMO, EOQ, HQS,
(1) UKS
(2) PQS
(3) KSU
(4) RSK
Options :

54025064601. 1
54025064602. 2
54025064603. 3

54025064604. 4




Question Number : 232 Question Id : 54025016152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Problem figure :

S N — 7N
(A) (B) © (D)

Choose the correct option to complete the series :

NS
D

T

g — — | —| g

(4)

Options :



54025064605. 1
54025064606. 2
54025064607. 3

54025064608. 4

Question Number : 232 Question Id : 54025016152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025064605. 1
54025064606. 2
54025064607. 3
54025064608. 4

Question Number : 233 Question Id : 54025016153 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The wrong term in the given number series is :
5, 6,10, 19, 35, 60, 92, 145

(1) 145
(2) 35
(3) 92
(4) 60

Options :

540250646009. 1
54025064610. 2
54025064611. 3

54025064612. 4

Question Number : 233 Question Id : 54025016153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

& TE HEer § HH-H1 U ToTd § 2
5, 6,10, 19, 35, 60, 92, 145

(1) 145
(2) 35
(3) 92
(4) 60

Options:




540250646009. 1
54025064610. 2
54025064611. 3

54025064612. 4

Question Number : 234 Question Id : 54025016154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Look at the statements and mark the correct answer based on the conclusions which follow :
Statement: A, Iplay video games when [am bored.
B.  Tamnever bored in my friend's company.

Conclusion: 1 It Tambored, I play video games,
[l IfTambored, I seek my friend’s company.
1) Only conclusion [ follows.

)
) Only conclusion I follows.

) Both conclusion I and Il follows,

) Neither conclusion I nor IT follows,
Options :

54025064613. 1

54025064614, 2

54025064615. 3

54025064616. 4

Question Number : 234 Question Id : 54025016154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1




Question Key Details :

Key Value

Comprehension MCQ

fefefEd s W fomm ifa aon 3e ey ferd o omem o 8 3w 9
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Options :

54025064613. 1
54025064614. 2
54025064615. 3

54025064616. 4

Question Number : 235 Question Id : 54025016155 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which letter will be sixth to the left of the nineteenth letter from the right end, in the following
alphabets series.

AB,CDEFGHILLKLMNOPQRSTUV,WXY,Z
1) M

Options:

54025064617. 1
54025064618. 2
54025064619. 3

54025064620. 4

Question Number : 235 Question Id : 54025016155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frefefan aviaren § efedt ok & Shgd a1 & 9 3 2a1 S8R Hi9-91 3 2
AB,CD,EFGHL]KLMNOPQRSTUV,W,XY,Z
1) M

(2) Y
(3) N
(4) B

Options :

54025064617. 1
54025064618. 2
54025064619. 3

54025064620. 4




Question Number : 236 Question Id : 54025016156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Find out which of the figures can be formed using the pieces given in problem figure.

A D
/N

Problem figure.

1
g k
E

4)

Options:




54025064621. 1
54025064622. 2
54025064623. 3

54025064624. 4

Question Number : 236 Question Id : 54025016156 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025064621. 1
54025064622. 2
54025064623. 3

54025064624. 4

Question Number : 237 Question Id : 54025016157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Statement :

An advertisement by a public sector bank : we offer higher fixed deposit interest in comarision to
other public sector banks.

Assumption :
. The different public sector banks offer different deposit rates
Il Thereis compefition in the market to attract customers,
From the above two assumptions, decide which of the assumption is implicit in the statement ?
(1) Only assumption [ is implicit
(2) Only assumption Il is implicit
() Both Iand Il are implicit
(4)  Neither Inor 118 implicit

Options:

54025064625. 1
54025064626. 2
54025064627. 3
54025064628. 4

Question Number : 237 Question Id : 54025016157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025064625. 1

54025064626. 2

54025064627. 3
54025064628. 4

Question Number : 238 Question Id : 54025016158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Choose the figure in which the problem figure is embedded :

Problem figure

(1)

Options:

54025064629. 1
54025064630. 2
54025064631. 3
54025064632. 4

Question Number : 238 Question Id : 54025016158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

39 sehfd 1 g e g spfa wfifed €2
T 3R

Options:
54025064629. 1
54025064630. 2

54025064631. 3



54025064632. 4

Question Number : 239 Question Id : 54025016159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

If PANT is TNAP an RATS are STAR; then ELEPHANTS are
(1) PHANTSELE

(2) ANTSPHELE
(3) STNAHPELE
(4) LEENAPSTH
Options :

54025064633. 1
54025064634. 2
54025064635. 3

54025064636. 4

Question Number : 239 Question Id : 54025016159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




71 PANT %1 TNAP 341 RATS ! STAR % %0 Y 929¢ 6 9 %, @ ELEPHANTS % i %7 ¥
293 o T

(1) PHANTSELE

ANTSPHELE

J
3 STNAHPELE
)

4) LEENAPSTH

(
(
(
Options:

54025064633. 1
54025064634. 2
54025064635. 3

54025064636. 4

Question Number : 240 Question Id : 54025016160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

You are a team manager, vou find that your employee’s performance is inappropriate that
induces/creates a stress for you. You should :

(1) start an incentive mechanism for better performance.
(2) implement special human resource training for the employees.

)
(3) create an organizational culture in which the employee feels to be concerned.
(4) Terminate the employee.

Options :

54025064637. 1
54025064638. 2
54025064639. 3

54025064640. 4




Question Number : 240 Question Id : 54025016160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

0 20 T4 ¢, 9 W & T 0 FHaR) 91 FOUGR ST ¢ S0 66 ot 76 3 0 €,
S ) H e

(1) e e o ferw S i ) e e

(2) e o ferw fesm e e e 1 s 9 A

(3) el Sl i T w Fo el A Ve e Ted

(4] e ) e & TR

Options :

54025064637. 1
54025064638. 2
54025064639. 3

54025064640. 4

Question Number : 241 Question Id : 54025016161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Where is Ajanta cave ?
(1) Kerala

(2) Ajmer

(3) Maharashtra
(4) Gujrat
Options:
54025064641. 1
54025064642. 2
54025064643. 3

54025064644. 4

Question Number : 241 Question Id : 54025016161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
TSIl % HEi 87

(1)

(2) 3SHY

(3) WY

(4) TSI

Options :

54025064641. 1
54025064642. 2
54025064643. 3

54025064644. 4

Question Number : 242 Question Id : 54025016162 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Who ordered the annexation of Awadh from Wajid Ali Shah ?
(1) Lord Dalhousie

(2
(3
(4

) Lord Canning

) Lord Warren Hastings
) Lord Lansdown
Options :

54025064645. 1

54025064646. 2

54025064647. 3

54025064648. 4

Question Number : 242 Question Id : 54025016162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

FIfSE 3T e | a9y & TAMT &1 3Tey foes SRt a2
(1) TS Serst

(2) e HHAT
(3) e ANA Bf=A
(4) € THSRA

Options :




54025064645. 1
54025064646. 2
54025064647. 3

54025064648. 4

Question Number : 243 Question Id : 54025016163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL.

List - 1 List - II

(Dynasty) (Founder)
(A) The Kingdom of Gaud (I)  Bhattarka
(B) The Chalukyas of Vatapi (II) Jayasimha
(C) The Kingdom of Thaneshwar (IlI) Shashanka
(D) The Maitrakas of Vallabhi (IV) Pushyabhuti

Choose the correct answer from the options given below :
(1) (A)-1D), B)-), (©)-(1), (D)-IV)

(2) (A, B)-(I), (©O-1V), (D)-[0)
(3)  (A)-(1), (B)-(LLL), (C)-(1), (D)-(1V)
(4)  (A)-(1), B)-(IV), (O)-(1), (D)-{LL)
Options :

54025064649. 1

54025064650. 2

54025064651. 3

54025064652. 4



Question Number : 243 Question Id : 54025016163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Gedi- 19 Geii- 11 &1 e wifs;
Eiﬁ-l - II

(TrSTEm) (FEeTaeH)
(A) IS GER () T
(B) AUl = =Teqe (II) SafEe
(C) UHYeR HHRY I RINIED
(D) dcasl & T3k (IV) g=yfd

= feu u fasredi A 9 a3 1 99 Hif;

(1) (A)-(I), (B)-(II), (©)-(1), (D)-(IV)
(2)  (A)-(D), (B)-(TD), (O)-(IV), (D)-I)
(3)  (A)-(D), (B)-(IL), (O)-(II), (D)-(IV)
(4)  (A)-(1), (B)-(IV), (O)-(11), (D)-(I1I)
Options :

54025064649. 1
54025064650. 2
54025064651. 3

54025064652. 4

Question Number : 244 Question Id : 54025016164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

When did Dual Government of Bengal start ?

(1) 1765
(2) 1825
(3) 1855
(4) 1775

Options :

54025064653. 1
54025064654. 2
54025064655. 3

54025064656. 4

Question Number : 244 Question Id : 54025016164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ST =l 59 UTEA hel HEY g7

(1) 1765

(2) 1825
(3) 1855
(4) 1775
Options :

54025064653. 1
54025064654. 2

54025064655. 3



54025064656. 4

Question Number : 245 Question Id : 54025016165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is a renewable natural resource ?
(1) Timber

(2) Thorium

(3) Natural Gas

(4) Coal

Options :

54025064657. 1
54025064658. 2
54025064659. 3

54025064660. 4

Question Number : 245 Question Id : 54025016165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tl s ware Fretfead 3 & HH-a 2

(1) FUReT TRel
(2) oifEm

(3) Wi 9
(4) Il
Options :

54025064657. 1
54025064658. 2
54025064659. 3
54025064660. 4

Question Number : 246 Question Id : 54025016166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of these forms of carbon are used to determine carbon dating ?
(1) Carbon - 12

(2) Carbon - 14

(3) Coke Charcoal

(4) Graphite
Options :

54025064661. 1
54025064662. 2
54025064663. 3

54025064664. 4

Question Number : 246 Question Id : 54025016166 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

S ST ) e 0 3 o e e 8 g 0 0 i o o

(1) F6H-12
(2) HH- 1
(3) F T
) e
Options :

54025064661. 1
54025064662. 2
54025064663. 3

54025064664. 4

Question Number : 247 Question Id : 54025016167 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The collection of Male Reproductive Part of a flower is called :
(1) Androecium

(2) Corolla
(3) Calyx
(4) Gymoceium

Options :




54025064665. 1
54025064666. 2
54025064667. 3

54025064668. 4

Question Number : 247 Question Id : 54025016167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

o] & X S YR 1 Hehol Hgelldl ¢

(1) 9=

(2) TS

(3) RIS g

(4) SEITEEH
Options :

54025064665. 1
54025064666. 2
54025064667. 3
54025064668. 4

Question Number : 248 Question Id : 54025016168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




In mRNA, vaccine, what is the meaning of ‘m” :

(1) Messenger

(2) Moderna

(3) Membrane

(4) Modeling
Options :

54025064669. 1
54025064670. 2
54025064671. 3

54025064672. 4

Question Number : 248 Question Id : 54025016168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TH AR TF T (mRNA) 2% H “m’ R ST -1 §

(1) HE=K
(2) HreA
(3) HwSIA
(4) wlefem
Options :

54025064669. 1
54025064670. 2
54025064671. 3

54025064672. 4

Question Number : 249 Question Id : 54025016169 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Where was International Tourism Fair FITUR 2023, held ?
(1) Tokyo
(2) Delhi
(3) Beijing
(4) Madrid
Options :
54025064673. 1
54025064674 2
54025064675. 3

54025064676. 4

Question Number : 249 Question Id : 54025016169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

SAeA ged Hell FITUR 2023 %@l A gam o17?
(1) 2R

(2) feeett

(3) ifs

(4) Hfge

Options :




54025064673. 1
54025064674. 2
54025064675. 3

54025064676. 4

Question Number : 250 Question Id : 54025016170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

According to Times Higher Education report, 2022, which of the following university has topped
the ranking list for the 7™ consecutive times ?

(1) Massachusetts Institute of Technology
(2) Havard University

(3) Cambridge University

(4) Oxford University

Options :

54025064677. 1

54025064678. 2

54025064679. 3

54025064680. 4

Question Number : 250 Question Id : 54025016170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e T e R, 2002 % 4w e & o waforarera H i 7t am 4 g o
vl 2o et o 27

(1) WergHes T S

(2) 7w foyafeEe

(3) e fovafom

(4] SRS vl

Options:

54025064677. 1

54025064678. 2
54025064679. 3

54025064680. 4

Question Number : 251 Question Id : 54025016171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

‘Bailey suspension Bridge” has been inaugurated in which state/UT ?
1) Assam

(
(2) Arunachal Pradesh
(3) Jammu and Kashmir
(4) Karanataka
Options :

54025064681 1
54025064682. 2
54025064683. 3

54025064684. 4




Question Number : 251 Question Id : 54025016171 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ol 3 T (sl Sy fost) 1 3qene e T it & W o T g2

Options :

54025064681. 1
54025064682. 2
54025064683. 3

54025064684. 4

Question Number : 252 Question Id : 54025016172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

[ndian Government launched NIPUN project on June 20, 2022. What does NIPUN stands for ?
(1) National infrastructure for promoting Upskilling of Nirman workers

(2) National Initiative for promotion of Upskilling of Nirman workers

(3) Nation Institute for promoting Upskilling of Nirman workers

(4) National integration for promoting understanding of National workers




Options :

54025064685. 1
54025064686. 2
54025064687. 3
54025064688. 4

Question Number : 252 Question Id : 54025016172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

IR 5O 3 20 9202 %1 Fq0 (NIPUN) Wit o e o | foqmn (NIPUN) 1 70 69 ¢
(1) e TR i IATET ufenfetn i Frefor o

() A Frfen BRI e i R e

(3) T SR R SIRITEN aqvfifern A1 i ook

(4) TR SO R SHeN eferefin o v

Options:

54025064685. 1
54025064686. 2
54025064687. 3

54025064688. 4

Question Number : 253 Question Id : 54025016173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

Which country won the FIFA world cup 2022 ?
(1) France

(2) Argentina

(3) Croatia

(4) Moracco

Options :

54025064689. 1

54025064690. 2

54025064691. 3

54025064692. 4

Question Number : 253 Question Id : 54025016173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

it favasy 2022 fHg <91 A Sidr?
(1) Wi

(2)  SSi=

(3) shIuferEn

(4) HReRRI
Options :

54025064689. 1
54025064690. 2
54025064691. 3

54025064692. 4



Question Number : 254 Question Id : 54025016174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which is the largest ocean of the world ?
(1) Indian ocean
(2) Arctic ocean
(3) Atlantic ocean
(4) Pacific ocean
Options:
54025064693. 1
54025064694, 2
54025064695. 3

54025064696. 4

Question Number : 254 Question Id : 54025016174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tova o1 Gad a1 HETENR &hid & ?
(1) fo= HeEr

(2) AThfesH HEHIR

(3) STl HEEIR

(4)  YRATT HETHI
Options :

54025064693. 1
54025064694. 2
54025064695. 3
54025064696. 4

Question Number : 255 Question Id : 54025016175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which planet is the closest to the sun ?

(1) Venus

(2) Mercury

(3) Jupiter

(4) Neptune
Options :

54025064697. 1
54025064698. 2
54025064699. 3

54025064700. 4

Question Number : 255 Question Id : 54025016175 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
gd & ged e ug A W 7
(1) ¥
(2) 99
(3) e
(4) deU
Options :

54025064697. 1
54025064698. 2
54025064699. 3

54025064700. 4

Question Number : 256 Question Id : 54025016176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Indus River0 flows in India only through :
(1) Allahabad

(2) Madya Pradesh

(3) Jammu and Kashmir

(4) Rajasthan

Options :




54025064701. 1
54025064702. 2
54025064703. 3

54025064704. 4

Question Number : 256 Question Id : 54025016176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Yd H 15y <1 shaa Fefafad § 4 yerfed @il €
(1) =dARMER
(2) T YW
(3) S 3TN HYHR
(4) TSN
Options :

54025064701. 1
54025064702. 2
54025064703. 3

54025064704. 4

Question Number : 257 Question Id : 54025016177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following is a ‘State” ?
(1) Mizoram

(2) Chandigarh

(3) Laddakh

(4) Ponducherry
Options :

54025064705. 1
54025064706. 2
54025064707. 3

54025064708. 4

Question Number : 257 Question Id : 54025016177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

fre=fefea 4 9 ' R W § 2
(1) foasm

(2) weErTE

(3) e

(4) TgT

Options :

54025064705. 1
54025064706. 2
54025064707. 3

54025064708. 4

Question Number : 258 Question Id : 54025016178 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Finance Minister presented the Union Budget for 2021 - 2022 on :
(1) 10 February 2021

(2) 1 February 2021
(3) 10 March 2021
(4) 1 March 2021
Options :

54025064709. 1
54025064710. 2
54025064711. 3

54025064712. 4

Question Number : 258 Question Id : 54025016178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

et w31 9 =6 2021 - 2022 1 FEF TS Fel T THAT?
(1) 10 ®&Ed 2021

(2) 1 ®Ed 2021

(3) 10 ®|r = 2021

(4) 1 ¥ 2021

Options :




54025064709. 1
54025064710. 2
54025064711. 3

54025064712. 4

Question Number : 259 Question Id : 54025016179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

What is under the PM Poshan Scheme as a part of which Tithi Bhojan will be encouraged ?
(1) It's a society participation program under which people provide special food to specially
abled people on special occasions.

(2) 1It's a community participation program under which people provide special food to senior
citizens on special occasions,

(3) It'sacommunity participation program under which people provide special food to children
on special occasions.

(4) It's an individual program under which a person provides normal food to children on daily
basis.

Options :

54025064713. 1
54025064714. 2
54025064715. 3
54025064716. 4

Question Number : 259 Question Id : 54025016179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

1 9 W 2 5 AT e A 3 T fofi o7 o om o 9 e o O

(1) % o AT ST e foeeh et Foraw ] o oo 9 el el
51 o 5 o o 11

(2) T O e T A ¢ foe st fouty i w aft i A v 5w fam
19 TG fo 9 €1

(3) % T TGO e i & e S i ok vl e ok ) o 0 e
;

(4) 7% T At e ¢ o T S e T o ) S S e 0 2

Options :

54025064713. 1

54025064714. 2

54025064715. 3

54025064716.4

Question Number : 260 Question Id : 54025016180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Tea cultivation requires :
(1) warm and moist frost - free climate.
2) acool growing season and bright sunshine at ripening.

(2)
(3) high temperature above 25°C and high humidity.
(4) hot and humid climate.

Options :

54025064717.1




54025064718. 2
54025064719. 3

54025064720. 4

Question Number : 260 Question Id : 54025016180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
I i FHY & forw smevas ¥

(1) 31 T 312 d ol Sfetary

(2) 37 % HHF Siae g 99 9 G AS YU
(3) 25°C 9 AfYes 3= A19HE aU1 I el
(4) ST TR S

Options :

54025064717.1
54025064718. 2
54025064719. 3

54025064720. 4



